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PICTURE DESCRIPTION (2)
Circle the solution !
This picture is a – a map - a graph – a chart
It is a study on the variations of  temperature over the 2,000 past years.

The numbers 0, 200, 400., 600, 800,1000,1200,1400,1600,1800, 2000, written under – above - behind the horizontal line at the top – in the middle – at the bottom of the picture are years. 
 Year 0 is  in – above – to  the bottom left-hand corner. 
 
 The picture is divided into two parts by a horizontal line that shows the normal temperature on Earth
On the right side – On the left side – At the top of the picture, the numbers   -0.8,  -0.6,  -0.4,  -0.2...0,  0.2,  0.4,  0.6,  0.8 are written along a vertical line. 
They tell the difference between the temperature of a year and the normal temperature. 
(-0,4 means: 0,4 ° C under the normal temperature. 
In the year 200 the temperature was 0.4°C under the normal temperature.)
 
Look at the horizontal line of normal temperature.
When the graph is under this line the weather is cooler than usual. When the graph is near – in - front of – above 
the line the weather is warmer than usual.
 The picture shows that the Earth was  warmer – cooler  than today during the Middle Ages, 
and it was  warmer – cooler  between the year 1400 and the year 1900.
 The period between 1400 and 1800 is called 
''Viking Colonization of Greenland – Little Ice Age – Medieval Warm Period”.
  We also can see on the picture that the Vikings arrived in Greenland during the warm period, 
in the year 1200 – 1000 - 800
 That's why they called the island Greenland. It was not covered in snow at that time.
 They left when the country became colder.
